DR A& FE R X,
(1) xy?—2xy

(2) 4x?—4x+1

(3) 9x2+412xy+4y?
(4) 64x%y?—25

(5) x2—5x+6

(6) x2—6x—16

(7) 2x?—3x—5

(8) 6x2+x—15

(9) (x+2y)?=3(x+2y)+2
(10) (2a—b)?+17(2a—10)

WOFEZE L,
(1) Gx—2y) —(Bx+Ty) (2) (x—6y)—(2x —3y)

3x+2 , x+2 3x+4 5x+2
(4) 1 + 2 (5) 5 T 6

ROBRA, BILoWT, A+ B A—Brithit L,

(1) A=6x?+2x—-3, B=3x*—5x+4
(2) A= —3x?—Tx+2, B=5x?—14

(3) 5(2x+3y)—2(8x —5v)

22+1  x—2
2 3

(6)

A=3x?—2x+1, B= -2’ +4x 3L T 5L &, ROFHFAEZEL,

(1) 3A+2B (2) SA-3B

WOFEZE L,

(1) 5x°X3x* (2) 2a*bx(—9ab® (3) (—2x?%)°

(4) (2a%?*(—3a) (5) (Ax2y)* X (—x°y%)?



(1) xy?—2xy=xyXy—2Xxy =xy(y—2)
(2) dx?—4x+1=(2x)2—2X2xxX1+12 =(2x—1)2
(3) 9x2412xy+4y? =(3x)2+2 X 3x X 2y+(2y)2=(3x + 2y)?
(4) 64x2y?—25=(8xy)?—5% =(8xy+5)8xy—5)
(5) f3—5, A6 LLR25DIE—2& 380,
x2=5x+6 =(x—2)x—3)
(6) funi—6, FENR—16 LR5DIE—8L 2 THDIMND

2 )
x2—6x—16 =(x—8)(x+2) 1><_|_1*)_‘_2
(7) N2, N5t tnD 2 —5—— -5
2x2—3x—5=(x+1)(2x—5) -3
(8) FEM 6, FEN—15 &M DZ &b 6 -15
2 —3—— -9
6x2+x—15=(2x—3)(3 5
X“TX (x )(x+ ) 3>< +5—>-+10
(9) x+2y=A LB & +1
(x+2v)2—3(x+2y)+2
= A?—3A+2
=(A—-1)(A-2)

=x+2y—1)(x+2y—2)

(10) 2a—b=A LB &
(2a —b)2+17(2a — b)

=A2+TA=AA+T)
=(2a—0b)2a—b+T17)

(1) (5x—2y) —(3x+7y) =5x—2y —3x —Ty=5x —3x — 2y — Ty =2 — 9y
(2) x—6y)—(2x—3y)=x—6y—2x+3y=—x—3y
(3) 5(2x+3y) —2(8x —5y) =10x + 15y — 16x + 10y = — 6x + 25y

(4) 3x+2+x+2:3x+2

4 2 4 4 4

(5) 3x+4  5x+2 _ 3Bx+4)  Sx+2
2 6 6 6

_3@Bx+4)—06x+2)  9xr+12—-5x—2
6 6

_ 4x-é—10 _ 2x;—5 PN

(6) 2x+1  x—2 _ 32x+1) 2(x—2)
2 3 6 6

4 20+2) _3x+2+2x+2)  3x+2+2c+4 _ 5x+6
4

4



_3@2x+1)—-2(x—2)  6x+3—2x+4
6 6

_ Ax+T
6

(1) A+B=06x2+2x—3)+Bx?—5x+4)=6x2+2x—3+3x2—5x+4=9x2—3x+1

A—B=(6x2+2x—3)—3x?—5x+4)=6x2+2x—3—3x2+5x—4=3x2+Tx— 7
(2) A+B=(—-3x>—Tx+2)+06Gx?—4)= —3x*—Tx+2+5x?—4=2x2—Tx—2

A—B=(-3x"—Tx+2)—0Bx’—4)= —3x*—Tx+2—-5x*+4= —8x*—Tx +6

(1) 3A+2B=3(3x*—2x+1)+2(—2x2+4x—3)
=0x?—6x+3—4x*+8x—6=>5x*+2x—3

(2) 5A—-35=5(3x?—2x+1)—3(—2x2+4x—3)
=152 —10x +5+6x>—12x +9=21x*—22x+ 14

(1) 5x3X3x1=5X3Xx3H4=15¢7

(2) 2a*bX(—9ab’) =2X(—9)X a3+t Xp!*+5 = —18a’h®

(3) (—2x%)°=(—2)*x(x?)? = —8x°

(4) (2a*)*X(=3a)=22X(a?)?X(—3a) =22X(—3)Xa’*! = —12a"

(5) (or?y)? X (—x2p?)? = 43X (2)* X y* X (= 1)2 X (%) 2 X ( %)
:43>< ( — 1)2 ><x6+10 xy?rHi :64x15y9



